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L] amb:25ll::! VCC:6V!
AM: f=1mHz., Mod=30%: fy=400Hz:

2.2
1 BPSE 9 INAE
2 INie 10 DCar
3 GNDPRE 1 GNDPWR
4 OUT mix 12 OUTp
5 OSCAM 13 VCC
6 INREe 14 QUAD/DET /
7 BPSkr 15 OUT ¢
/
8 OUT per 16 AGC/AFC
3.1
+ Tamp= 25T
Vee 13 V
lcc 44 mA
Rya 100 /W
Po Tamp==6512 600 mw
Tamb -18 ~65 T
Tag -40 ~125 T
3.2

FM: f=10.7mHz. Af=*75kHz. f\y=400Hz :
: f=1kHz. R=18 0

Vi=0: FM: Vcc =3V 7 12 17
V=0 FM. V=9V 10 17 23
lcco mA
V=0. AM: Vcc =3V 3 14
V|=O: AM; VCC=9V 6 20
Vi=0: FM: lcc=42 mA 2.0 2.4 3.1
16 Vis
Vi=0: AM: Vcc=9V: 1.4 1.9
VCCI |CC=42mA 12.5 13.2 14.0 V
v FM. V,=10mV. Vr=0 170 360 mv
P AM, V,=1ImV: Vg=Vob | 60 130
V||_|M FM. '3dB 1 VR:0 63 uv
Viga | AM Vopg=20mV 1.7 89 | w
Vr=Vop
Qs AM, S/N=20dB 316 WV
Vr=Vop
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